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Seauence & Series (AD, €D)

1. Terms a, b, c, d, e, f, g are said to be in
) V ¥
AP, It GP. If _wew
Cazebsaczed | | bos.d.e 2.3 | [T LT
P-e=q-L | a b c7d ek %“"J_“;
! - - :3- . 4L L axe
| | | = succ. tewm eds 3 f
| :(succ.-k-ezsm— prec tex )e /(rrec "9 texm er.-?:a |
2 Progression AP/GP/HP/None of these
\6& _ 32 ¢4 28 — 59 =
P. A —_— = = = -2 = K
8, 16, 32, 64, 128 «.P. as S = = =z
80, 70, 60, 50, 40 A-P. ag 70-%0 = Go-70 :dso -6Q = 40-S0
= —\o =
2, 8, 32, 128 AP as B - 32 _R8 _ 4 = y= wwon
=t 2 32 MO
L 1l 1L L ,xe in RH-P- as 9—,‘1‘@,%
0.50, 0.25, 0.1666666,0.125 | > , 4 , ¢ , g ave iw AP
1111 1
8’1012 1418 None of these
100, 97, 94, 91 A-P. as da7-100 = d4-97 = 9l-94=-3
= cowmmon D\ =q
4,6,9,13.50 &p. as £ -4 _ 13S0 — \.so=7
4 S A
10,80,150,220 AP as 20-10 = 1S0 -80 = 220-1s0 =F0=d
10,0,-10,-20,-30 AP o-1<-10-0 = _20-(-10) =—3°—(-f-°)
= _-\0 = d= common e
3.
For t, S,
AL [10\-\- (n-1) d]
d 2
AP a + (n-1) V\
oR — (‘\:‘ A 'Lh>
2
- n_
n-\ a(¥"-1) v when ¥ >\
GP a- (%) .
[q(\—x“)/(\-w)_] whon ¥ <)
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Seauence & Series (AD, €D)

4. 80, 87, 94, 101, .......... Find t,,, 0,85 Susr S100Suas S e

=> Thioic AP azgo d=7% = l"zcl \&o«-%xﬂ
’\130 = at29d = 20+ (13 x7) =223
tgo = a+73d = 8+ (719x7) =633 =
tlas = a+124d = o 4+ (124X7) = M8 s

_ s E{o+ \14Xﬂ
Sys = ﬁgs_—[\50+ (<4 X 7)J = 10,530 2
- gq,lsb

5.5, 10, 20, 40, .......... Findt,t,S,,S,
- TN tis &P a=s ¥=2

eind o ber i

":\1 = ax"'=s )((2)“: 10240 /\
Yoo: a.¥2 = sx(2yY = 2,60

\6 when ¥ > when
S = 5<2—\) T 327675 \>‘h->o
16 % Seo =02
(1-\) _— - a
oS~ (I-¥
Qe S0 T
22 - = 20971\S\S
-9
6. 1. Sum of infinite terms of G.P. wherer>1= ©O = '\ﬂﬁnifé/
2+ 6+ R+sS4+ —-ccaaaa- oo +esmg = &S

2. Sum of infinite terms of G.P. where 0<r<1 =

S4+ R4AE+2+ - - 0 FEEMS = 0‘7‘)

gy 5\ _a(l-c)

N (Gl o) T Q=)
7.10 + 20 + 40 + 80 + ............. oo terms = ? )
— Heve ¥ >\ SOO - o = \nRimre
8.200+ 100 + 50 + 25 + ............. oo terms =?
——p Heve ¥=0.-SO < | Soo-_-_ A - 199 = 400

-7 \-0-SO
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Seauence & Series (AD, €D)

+ l4d = sSRO

+ 4d - %0
lod = S°0
d =SSO0

a + lq(So) = SRO

a= —-\20

9. For AP t, = 80, t,, = 580. Find a, d, t,,, t,,, Sq,
)

at+ 9gd

—\20 + (995 X Ss)
= 4230

fao -

—120 4 (701 XS0)
3230

10. For AP t,= 15, S, = 30

)

£

Sa - %[{:IH:_%]
30 = iz [t,+\s:_‘

'L|: a=-S

— a4+ 2d - IS
S £2d - \S
dTs

Find first term, common difference, S,,, S, t;,

Sﬁo

Stoo

{30 - a-+ zsc\

— A0\ 0+ 3°\x3:‘
5=

4100

= 199 o+ °\°|X5:l
2

= 2SSO

- S 4+ 29 XS

= 1SS0
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Seauence & Series (AD, €D)

11. For AP t, = (3n+5). Find S,
=  lpz 3+ S

E,z3() +s =% 2
£, =3(@)4s =) - N ane) = (3\,\1_\_\3\\
d=3 2 2
12. For AP t,= 2, if S,=(8n"-3n) t,=?
_bSh:%hQ—-sV\ q:S,t:“ 4=16
Sr=ey—3D=s L = s+mD16
S, :%(2)2—3(2): g = S len-\6

13. For AP - Please Remember

1. 1f S, =S, then S, = zero S _

200--— QO
2.Ift=n, and t=m, then t__=zero @ b __\:\Q 2 co % {200: \0
3.fmxt=nxt,thent, =zero +hen L1310 =0

©) Tp 3x-\:3: \ex ¢
+hen t£1\g =0

14. For 2 observations x,y
) v V2
_ [RYY = -\—\I"' =
AM_(T) GM= 1 23 HM = _L_\__L
=Y
_ (m‘a
:e-\-é
15. For 2 observations relation between AM, GM, HM is
—) GIM = AV R HM (i-e. @M 18 M ol AM 4*“‘“‘)
For any no. of observations relation between AM, GM, HM is
— AM =M = HWM
IH‘HH‘HI||HH|HI||HH|HH|H|||HII||||||||wn,uul||||‘|||||||||‘||||‘t||||a|||‘||u|a|||||||u‘||||
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Seauence & Series (AD, €D)

16. For 2 observations ifGM=10 and AM=12, HM =2
2
m—> M7= AM XHWM

AM = 833333 = of T

17. Insert 2 A.means between -200 and 1600 TR a,bc.d
—> — 200 , \eoo0 ave 0 QP
! +hen
b’c a¥ e

o= <200

14 =ar3d = leoo “
A - 200 4+ 23d = l&oO s.d= 60O bex QC\'d

92 A-means

18. Insert 3 A.means between 5000 and 8520.

—)
Sooo, <SR30 : , /%Szo

-\:S = a+4d = @S20
SO F 43 = LS2O d =gg0

19. Insert one A.means between 100 and 250.

m—> |00 4+ 2SO
2

—\7=

20. Insert 5 G.means between 500 and 8,000.

- %03 793.74 | [1R€0.05| | 1000 |[3174.97] [S040-2| ROOO
/ / / ] /

SO0 ¥ XY X¥ = 2000
¥ = 4 x = -SRT7ARIT7A4T
IH‘!WHli|llll|llli||IH|H|I|H|||H|I|||||||||||u‘||u‘||||‘|||||||||‘mu‘uu|a|||‘|||a|am||||u|||||
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Seauence & Series (AD, €D)

21. a. Sum of first ‘n’ natural numbers = " (“'\' 0/2

b. Sum of first ‘n’ odd numbers = hl‘

c. Sum of squares of first ‘n’ natural numbers = N (h'\' D (nt D / 4

d. Sum of cubes of first ‘n’ natural numbers =E\ (T\-\- |) / Z-P'

e. Sum of first ‘n’ even numbers = h(n-\-\) - nQ'—\- p)

22.19° + 20° + 21° + 22" + ...vuvneennn. +105°
—— = <\1+9?-+ —c—-- J\-\OS?')— (\1'\' 3—2"\‘ ----+\82>
= (wsx 06X 2\\> _ (\axzq x37
\ C 6
= 3,gq,2°\€>/~
23. 28° + 29° + 30’ + ...ceeeernnnnns +62°
3
— (34234 4623 (B2 -k 27)
c2x&3V- (M 7x28\*
=)=
= 3¢7132S
24. 1 +3 + 5+ T + cuceeirnincrnnecsennennns +989="?
= 44S 9
g — sum of £¥S+ 4aS add hempens = 49S
QWs = 24S02S
25. 4484 + 4488 + 4492 + ...........cc..... + 16880 =2?

m—) Th+Hme AP A= 4y« ld: 4 / +,, = 16820
16880 = 4484 + (h-1)4 Sg\% _ 3o (4.424-\- \588c>

==
IH‘!WHli|llll|llli||IH|HII|HI||H|I||||||||||m‘||u‘||||‘|||||||||‘nm‘uu|a|||‘|||a|am||||u|||||
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Seauence & Series (AD, €D)

26. n" term of sequence 1, 3, 5, 7, .......
—) Tn e A-D. G:\/ d= 2
'\;h - o+ U\_()d

= (4 (n=)2 = (+2n-2 =2N-)

i=7
27. SJ2ir1 =
i=4

—) \[7 -\—\|q+\h_1_.(_\r\'§

13.S67a2737¢¢

28. If S, = 2n* + 8n, first 3 terms of AP are :

- Sy = 20 4+ 2N a=lo, 5,=14 d=4
Sy = 2 (Y 4+ 23(1) =16 Elvst 3 teams a¥e
2
S, = 2(2) + @(2) = 24 ‘0,\4118
29.For AP t,=-4,t,=146, S,=7171. The number of terms is :
) - = __h— \42
gh:_\r\i({‘J,{h) AV
- N (_4+ 146 \n = 1ol
7\71 = 9_(‘1 )
30. 33+7+103+14 +...... Find S,
—

In WS AP a=3.S0, 4=3:So
17

S _ 17\ 7+ (16x3Se)| = S3S.SO
\7 - 2

IH‘HH|HI'|HH|HI|‘HH‘HH|HH‘HH Illl|l||‘llil‘lllllllll‘llll'llll‘llll‘llll‘llll‘llll'll|l|ll|ll‘llll
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Seauence & Series (AD, €D)

31. 4 A.means between -2 & 23 are

= -3, )9,
/ I / , !

a=--2
—\;Q:?.% z—at+rsd = -2 4+sd
d=S
32. Find x such that 8x + 4, 6x -2, 2x + 7, are in A.P
) JCJ_,'E\ = ‘Ls—‘h?_
CR-2 —RR-4 = 2R+7 -6R+ 2
—2R -6 = -4+ 9
2® = s %

TR TT7.S0

33. Find k such that (10k+8), (18k-19), (22k-81) are in A.P
—> ‘El - ":\ — "l'.s - +, 2

Rk -19-lok-Q = 22k —8) —18k +19

RK-27 = 4k -6
4K = - 3S

= < —3% = —--7S

34. 4 A.means between -20 and 880 are

=5 ), ) @,
/ I / . !
o\ —

= -20_ + ¢ = 2%0

a+sd = 320

—20 + sd = 0
d = \R0O

IH‘HH|HI'|HH|HI|‘HH|HH|HH‘HH Ill‘|l||‘llll‘llll‘Illl‘llllllllllllll‘llll‘llll‘llll'll|l|ll|ll‘llll
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Seauence & Series (AD, €D)

35. Insert 3 G.means between 1 and 9.

9
) _L
DI GION
- 1
A="9q ¥ =gl
4
{:S:q:q-x =
d‘:—;x“("

........... n terms =2

— 34+ 33+ 333 4+ WA oo MAEIMS
- 3 (\+ W4+ W& oo N deams)
= é_(‘H- 49+ 4494+ - - -- h-\'e‘c'YﬂS)
q
- 32 E\o—\) + (lwo-1) + (loco-1) + ----- N -\-exms]
O'
_ _3_[\000“-0 . n]
i 9
37. 6,12, 24, 48, ......... Findt,, S,,
— Th ¥is &-P. A=6, ¥=2
Loz ax¥3 = ¢x33= 3072
2 2
o (¥ = 62\
S\o. = ( ) = (l ) = 24570
=) 2 =)
38. For GP t, = 24, t, = 81 then find common ratio. )
4 327 -(.3)
m— Q.¥ = 24 a-¥ ' =<l ¥ = g \=2
3
a-¥.35- = 3\
=3
24 753 = 3\ v A—
¥ = B4
|“‘|||““l'|‘||||“||]|||"“|'|"|||“||Ill‘|l||‘IIH‘HH‘HH‘llll‘ll“‘llll‘illl‘llll‘llH‘llil‘llltl‘llll
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Seauence & Series (AD, €D)

— S,e = 294 X OS¢
a (™) 244 X 7(»( (z'°-1)
(‘6"/3 i (r—yj
(oA (0 +1)

=2y x (0 =/)

39. Sum of first 20 terms of G.P. is equal to 244 times of sum of first 10 terms of G.P. then
common ratio = ?

' s \0
*© - 243 = 3° _ ((32) = \3
¥ = \3
40.1+2+4 + 8 +............ = 8191
How many terms are there in the above G.P.?
— az\ , OSn=3al yY=2
n 32
_ (2 -1 : 20 - a2 = >
\al = N ‘i B
" C W13
@lal = 2" | K

Thexe as@ |3 +esms

n gqbove 4@
41. 4 G.Means between 4 and 972 are :

— 4,2 DG OCeed (314D 472
4

= =}
-‘:O\ 4 XY =972
—A72 =
C‘-’S x> = 243 =3
. = 972
Q- aq > =3
42. For G.P., Find t, =x, t,, =y, t,, = z then y% = xz. True / False
m— Q-ng =3 39‘: o{.xg)z = oLy '®
Q-“Gg.—.. Y RZ = O\-'K3-Cl-"6\5= olQ. ZY‘Q
a.%¥° == S yrzez is Twue .
IH‘HH|Hli|llll|!ll||HH|H|I|H|||HII|||||||||||||T||u‘||||‘|||||||||‘nuu‘ml|a|||‘|||a|am||||u|||||
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Seauence & Series (AD, €D)

43. Find sum of all odd numbers divisible by 9 between 5,000 and 15,000.
— @ S004 + SO\ + S22 % - ccmm—m - + 14494 - 9
i = Sooy + (h=-t)g = 14994
N =\l
LI —
N Snn = —5 (5004*- \‘\d\q‘D -ttt o289
@ Sol3+ S04 Se4d + ooooooo F 14A8s =7
SSss
1498 S =soR+ (W-1) \g ..n=SSS Ssss - = S°:2;\|'g.s)
44. Find sum of all numbers divisible by 7 between 800 and 8000. — SS, 49 44|
— F0S + RUA* BlA 4 i +7994 !
7994 = gos+ (n-V)F
nNZ \02¢¥
(02 7994 -
Sm?_% = 5 (Sos-(- S ) = 4S,22, e%é/_
45.1.03 + 1.03° + 1.03°+ .......c.oceun..... Find §,,

— Th 4this GLP. a= \-0’3) FI= 1-03

s (\-63‘\——\)_‘
S\\ - - 13. 192329s6a2
\Fo3="1

S

46. The n" element of the sequence -1, 2, -4, 8 ........ is
%(-1 )" x 2™ b. 2" c. 2" d. None of these
In 4his &P A= -1 ¥=-2
h-\
-l:h sl a X (’?S)
- =\ x(—z) = -1 X - 1 x(2) :J.x(-\xz)
(_2_)1 P 2

N n-y
IH‘!WHli|llll|llli||IH|HII|HI||H|I||||||||||m‘||u‘||||‘|||||||||‘mu‘uu|a|||‘|||a|am||||u|||||
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Seauence & Series (AD, €D)

7
47. >2i-1 can be written as :
i=4

%&ﬁwﬁwﬁ +{13 b. 27 +2(9 +2{11 +213
c.\l7 +9+11+13 d. None of these

Q:fijﬁm S 2r3 4 2243 4 T3 ALH 4 - +(7"+D

S w4z =9 = (BT 7)) 420

r | ) - 7XRXRINS 2= L6 |

48. Which term of AP -1, -3, -5,

a. 21" 7? 20" c. 19" d. None of these
In s AP a=-l  th=-39 d=-2
-39 = —| + (h—\}(—l} - S
. \ —
-3g. = (n=-NCGD . 29T tewm i
9= wn-I .. n= 20

49. For APt ,=n,t=mthent =?

a. mtn+r b. m+n-2r c. (m+n+r)/2 d. m+tn-r
Fox AP, T

A_IX - wmAn-%¥

Tox AQ TL ‘EmZV\,Janm
em L = M—\-V\—(WH'V\):O

2 1 .
50. 1o+9§+9§+9+8§+ ...... Find S,

a. 155 b. 551 c. 1010 d. 305
30 24 28 17 26 .
—> 31 &3 42,3
— - _41
az\0 d=-%

30 (€O 29 _ 3 _\ss
30 N = 22 - = \SX
Sz 2 e a2 (S -5)= 1%

Ill|lll‘|Hli|llll|!|li‘HH"IH‘H|||H|I IlllII|IFIH‘HH‘Illl“llllllllilIlll‘illl‘llll‘lll!‘llilll!ltl‘llll
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Seauence & Series (AD, €D)

51. 2 A.means between terms -6 and 14 are

a.2/3,1/3 %2/3, 22/3 c.-2/3,-22/3 d. None of these
— 6 C0-6666E 14
! ] /
- — G
d— 6.666666
52. The number of numbers between 74 and 25,556 divisible by 5 are:
a. 5090 b. 5097 c. 5095 d. None of these
7S 0,8S, ---—---- s

assss = 7s+ (n-1S

N = SO4+

53. The 4 arithmetic means between -2 and 23 are :

a. 3,13, 8, 18 b.18,3,8,13 4&3,8,13,18 d. None of these
-2 3 > C 8 >CB > 23
/ / / / /
aA=- -2

be = a+sSsd =23  —2 4+ Sd =23 2. d =S

54.t,=-4andt, = 146,S = 7171. Find n

_#101 b. 100 c. 99 d. None of these
n —hn
7171 = 7_(“‘+'l<'6> gn“ > (tl"'th)
7474-=-hx 7l
n = tol
IH‘“H‘HI||HH|HI|||III|IIII|HH|HII|||||||||||n‘||u|||||‘|||||||||‘||||‘t||||||||‘||u|u|||||||n‘||||
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Seauence & Series (AD, €D)

55. X% X, 1 ceveueeen. t, =
a. x” b. 1/x — 1/x° d. 1/x*
- -
Th 4+H+hme &-P q_ae,’b’ \/;;Q
30 30 2 30 \
—\;3\_0\-“6 :aeQx ";> p _\_,:_—2/
5030 » 8
56. For G.P. t, =24, t, = 81. The series is,
a. 16, 36, 24, 54...... b. 24, 36, 53....... 4&16, 24, 36, 54....... d. None of these
— - 3.l _ 27 —
ty= av= 24 V kR - Wb
- 4 AXS = 24
e = q”‘g 3l o= i 2
a-x.% =\ a= \&6
Laxd =81 .. Sexes s . 16,24 36,59 ) -
57. The sum of 3 numbers in G.P. is 39 and their product is 729. The numbers are :
a. 3,9, 27 b. 27,9, 3 /Both (a) & (b) d. None of these
Qg —a¥ 39 9x
¥ ! Yy F
4 xa xay = 729
c:'\g = 729 .. aZzZ g
58. In a G.P, product of first 3 terms is 27/8. The middle term is
a.2/3 4./3/2 c. 9/8 d. None of these
A g av
T !
27
A v axar T —
=¥ 8
Q _ 27 _(_3_)3 = in
g 1> >
IH‘"H‘HH|HH|HH‘HH|HH|H|||I |||||||||||||‘||n‘||||‘n|||||||‘||||‘t||||a|||‘||u|x|||||||u|||||
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Seauence & Series (AD, €D)

59. If you have 1 paise today, 2 paise next day, 4 paise succeeding day and so on.
Total saving in 2 weeks will be :
a.3163 b.3 183

|+ 2 + 4 + @+

%? 163.83

d. None of these
--------- S \4y

V(2% -

2 -

tl

= 16333 pase

T 163:833
60. Sum of first 20 terms of G.P. is 244 times of sum of its first ten terms.
The common ratio is :

3

b. 3 c.1/J3

d. None of these

rRetey & .N0. 39

61. The sum of the series 1 +2 +4 + 8 + ......... + n terms is
%./2"-1 b. 2n - 1 c.(1/2" -1 d. None of these
Ih 4hic &P
Q - O\(?s“—ﬂ _\)(2“—L o l“—\
no -1 2= »

%13

62. The number of terms to be takensothat1+2+4 +8 + .... will be 8191 is ¢
a. 10

c. 12

d. None of these

Rebexy & .N0.40
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Seauence & Series (AD, €D)

63. Four Geometric means between 4 and 972 are
4./1 2,36,108,324 b. 12,24,108,320 c. 10,36,108,320

d. None of these

Reler & .No .4l

T s &P, az) “K:é

AS 0 < ¥ <\

VA
8
X (9 [
f
l_
=

= ) /3
3 = 1.S0
65.1f p, q, r are in AP and x, y, z are in GP then x"'x y™x z"* =?
a. zero % c. -1 d. None of these
_ qQ-¥ v-P P=9
P2 RO xR X :') X Z
Q ) n = 20 3-4 4-2 2-3
¥ =4 Z =40 = (o) x (@) x(4o)
e - =t g goo x ==
= 10 'X 20 X440 = g RA0X_o
66. For G.P, t,=x,t,=Y, t,, =7. Then
ax’ =yz b. 2" = x.y 46 Y =x.z d. None of these
Relev g N0 4=
IH‘“H‘HI||HH|HI|||III|IIII|HH|HII|||||||||||n‘||u|||||‘|||||||||‘||||‘t||||||||‘||u|u|||||||n‘||||
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Seauence & Series (AD, €D)

67. A person saved X 16,500 in 10 years. In each year after first year he saved X 100
more than he did in preceeding year. The amount of money he saved in first year was

a.31,000 b.3 1,500 %./? 1,200 d. None of these
a a+o a+200 -----esan s AP d=100
r /
\0
- \6So0 = — - \QQ]
S\Q \ 5 |20+ 34X
lgsee = s (ea+t goo)
a = 1200
68. Sum of first 30 even natural numbers is :
/./ 930 b. 465 c. 900 d. None of these
=30X3)
=930
69. t, for AP is (8n + 3). Find S,
a. 7Tn’+7n b. 7n*+4n //c/4n2+7n d. 2n*+7n
- 3N+ 3 - 8 )
th Sn= 5 (Bt Tn

B, =) +3 =11 _ % (\H- gn+3>—_ %<3n+\q>

= n(ant 7) —4n+ 7N

70. 101°+ 102° + 103° + ...eeverrrerennenns +123° =2
a. 3,23,11,450 46/ 3,26,53,376 c.3,15,45,295 d. None
3, 2 . 3
(t3+ B P e —\-\233> _ (l Pt "“°°>
(R 2 )"__ 100 X101\
pl > 5
= 226S 3376
IH‘HH‘HI||HH|HI||HH|HH|H|||HII||||||||wn,uul||||‘|||||||||‘||||‘t||||a|||‘||u|a|||||||u‘||||
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71.ForAPt,=40 and t,, = 9 then t,, = ?

a. 49 b. -98 4(/ zero d. None of these
= = — 3 showt
o ‘\‘,\“- N : 'Lh =\ then "Lm-\-h -0 cotg
Tp -t =n.t, +en tmn=0 der AP
I_Q_ gm = gh hen g N eda) =0

72. If Loga, Logh, Logc are in AP, then

—> Logb - Loaq = L°8C — Logb
ey (&) =t ()
e

a b,c—ave \n &1.0.

73. For 2 positive observations G.M. is G.M of AM & HM

8 True b. Falsg Ve Q‘Zi‘_x: = S.S33441S3246
4 & 9

AM &M HW

2 B 6-S0 G S.S3V461S38¢ —> &P
GAM = \[4x4 = 6 LM s oM o2 AV A HY)
/ﬁl:n b. n:m c.m’:n’ d. None
azd

i,_m__ a+ (m-1)d 9(+m4_9/ ~md

En  are0d T Jrnd—g Twnd T T

IH‘HH|HI'|Hll|HI||HH‘HII|H|||H|I |||||||||||||‘||u‘||||‘H|||||||‘||||‘t||||||||‘||u|xm||||u|||||
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75.a"*=b" =c¢" and a, b, ¢ are in G.P, then x, y, z are in
%./A.P b. G.P c. Both d. H.P
X b = n &b
Jie -\S _Z\ S ED T aze ¢
a <= -—C - k 5 ® =
T (\cﬂ) -k
o -k . o= ‘\<;Q 24 R+ 2
k- - k
b= \=g .
- : TC\Y
CcC T Kz - . lj - 2-\—2 ST T oo 8lk.b,z < )CA(\FT
76.x=1+1+ 12+ ...... coterms, y=1 +‘%+l2 + sovenet oo terms. Find (x-y).
/./2 b. 1 c. 8/9 d. 1/2
o= == A Y
! 3 Z]— - — 3 .4
BQ _ S _ | 1 _l_ _ 3 < i EKE‘ = 2
- Q.- \__.L 2} 2> ~ (‘/3/4,
3 S = </3
77. For AP ift, :t,=5:7,thent, : ¢, =?
a. 13:16 4&17:23 c. 14:17 d. 15:19
tio 7 ! a+gd e 2a = 3d
tg _ at7d _ 2a+lud = =
11 a+lod  204+42d 234 T '
78. 1f G is GM of a, b then, ——+—1 - -
G*-a G- b’
a. G’ b. 3G’ /G’ d. 2/G’
2 4&‘
R N s ®©
\ | _ ‘Xb l X A Cb_q)
ab —a* ab-t* bO\(B-O\) Q‘D(\a-a) - QB(bfg)
o
=
H""U[“I"“l"“l“||||"|l'|"|||l|||Illl|l|||l||l‘ll|l‘||||‘|Ill‘|l||‘|l|l‘i||l‘llll‘llll‘HH‘IIHI‘IIH
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79. Find the product of 243 x 243"° x 243"*° x

a. 1024 b. 27

d. 246
oy < % 3% erTs
= 43 X 2937 X 243 ¢ 243 X 243 P
_ 243“"&"“2"\@ Y . (—143) Tl_’E :(&43)‘/5
— (35)6/5 = 3% = 729
80. GM of P, P*,P’, P, ........... , P"will be
a. P 4" P c. pr 2 d. None of these
Aol h obshS = n™ veot ob pwdack ok 0 059“—1

7 /0
= <\)xe)<(>)<— ---- KP)

h+

=
—

I

(P\+z+ 34+ ----+Y\> n

i

N (n+) ‘/n ng
=)= ()

81. Find the numbers whose AM is 12.50 and GM is 10 :

%./20,5

b. 10,5

c. 5,4 d. None of these

a. 8

82. t, of GP = 3"” then product of the first 9 terms of GP is

=0 27 c. 243 d.9
\ St
ts = a3 = 3/‘3 in %l —;_5 Ny wig =4
T OARAT KR ABXrmmeme KA g
2434 -2 36 4 ‘/)
R 1 ek = (q.zs") 2(33
=2
83.For AP t, + t, = 8. Find S,, for AP
444 b. 22 c. 19 d. 11
at+2d + a+rgd = 3 S\\: —‘?‘:(-l:|+4;\\
2ot lod =€ = U (g aried)= %8
IH‘HH|Hli|llll|!ll||HH|H|I|H|||HII|||||||||||n‘||u‘||||‘2|||\w|‘Hu‘uu|a|||‘|y¢|nn||||u|||u
L CA VINOD REDDY | Maths Notes | ® vinod.reddy.ca@gmail.com =
74




Seauence & Series (AD, €D)

84. t, for AP is 15 then §,; =
a. 15 b. 0

7225 d. 225/2
_ |
ar7d=\s | Dg= = ‘“"L‘d)

t

'S (a+7d)
- 1S X \S = 225

85. Find first term of GP if second term is 2 and sum of infinite terms is 8

a. 6 b. 3 /«4 d. 1
a _ 2 >
a.¥z2 See = =8 |-  _g (@a4a)=o
- a_2
2 -
¥ = a . - A-4 =0
a \—i -3 (7, (N QQ—\G Ck—q
A -gat+ 16 = O

86. If sum of 4" term and 12" term of AP is 8, what is the sum of first 15 terms?

/eo b. 120 c. 110 d. 150

a+3d +a+lld =Q S\s 3 lsz 20+ ‘4{\
2o+ l4d = L .
>y
= GO

87.In GP, t,=729; r = 3, First term=?

a. 2 5.3 c. 4

d. 7
S
a-%-_ =729
Q)(SS: 729
ac- 3
/

88. For AP S,, = 143, t, = 5, find first term. a+2d=5 q:‘\:gé =11
a. 4 b. 7 c.9 % 2 __3q — 'S
13 ().a+\zd) = 43 s 2gx\2d = 22 _zo\_—q

atrcd = 11
IH‘HH|Hli|llll|!ll||HH|H|I|H|||HII|||||||||||n‘||u‘||||‘|||||||||‘nuu‘ml|a|||‘|||a|am||||u|||||
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iC P
&1 o Xllle -, ®p = (:el.xz.zeg—---&ro /n EE
89.fGMofa,b,c,dis3thenGMof1,1,1, 1 is
abecd

—x1/3 b. 3 c. 81 d. 1/81
q’ 4 \ | % A

=3 = =
abed \/ abed ( 39 > 3

abcd < 34

90. Find common difference of AP, if a = 200 and sum of first 6 terms exceeds twice
the sum of first 4 terms by 50

a.-10 b. -15 c. -20 %None of these
3(.4‘00 -\-sé) = 2RK2 X (4100-\- 3&) + SO d =1s0
Nootlsd = 1600 + \2d +S0o
91.59+63 +67 + 71 +......... +107 =2
a. 972 -;? 1079 c. 1083 d. None of these
IntsS AP, a= S?}/d:é
= sSq+ (h-) _ \_3_( 10 >
Y; A+ (n-1)4 Sz = = (s9+\07
hoL3

=- 1079

92. If one AM ‘A’ and 2 G. means G, & G, are inserted between any 2 numbers then (G,*+ G,°) = ?
/aﬂAG,Gz b. 26,6,

CA VINOD REDDY |

c. 2AG, o (,‘9_+d.2A 612_
. 2 ) .
ae1(;./ | . AP H::e—-—‘-g ‘%(’12:3(’11 J S e
ol O LGP | R "y =Ry e
xR . l: 21 3 . 9_%_ -— C"I'G\Z (2.\-5)
C’l| - ?(312_ = ;G C"-.(’u—-

93.1fa, b, c are in G.P. a, x, b and b, y, ¢ both are in A.P, then (a/x) + (¢/y) =?

a. 1 b. 0 2 d. None of these
*obswmesdo (8o o 4o 30, 4 g
o-=loR=\s b =20 ES J s 30 3o 30
b :AO%:goc = 40

IH‘!WHli|llll|llli||IH|HII|HI||H|I||||||||||m‘||u‘||||‘|||||||||‘mu‘uu|a|||‘|||a|am||||u|||||
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Seauence & Series (AD, €D)

94. For AP (t, / t,) = (12/5). Find (t/t,) =?
a. 8:5 b. 9:4 c. 7:3 —d410:3
+- a+ed 2 t3 _ attad _ 2a+24d
t3 T atad s ty — axsd zated
Sa+ 3d = (2a+24d - XX FHAXTA_3oa _ o
6d = 7a 294+ 7a Ja 3
95. 4" term of AP is equal to 3 times of first term and 7" term exceeds twice of third
term by 1. Find first term.
éa?s b.5 c. 7 d.9
> = - -2 + =
ty = 3a T; 5 2% 1y l 20 +4d = 2
a+ad = 2a a+ed = 2(@at2d) & | |-3d+4d =2
20, :3A a+&d = 29 +4d 4+ 1 d=2
a+2 \ a=3
96.t =1/243. For 3, (3, 1 ............ then n=2
a. 12 —B13 c. 14 : d. 15
b= \ Th *8s &P &= 3 ¥= Y3 (3)-20\-0: 36
243 ' 3Ix »xn= l
n-\ l - : 35S -0 =6
a(¥) = n-l =l =12
243 i S
(3 2) o 36 nN=13
97.For GP S, =4095,r=2,t,= 2048. Find n
a. 10 b. 11 <12 d. 15
o (2“—\3 > -1 | g x2” =49
.L‘Qqs - 204 = a X (2)
- n - 1\2
|
qoas = q (2"=t) 2 nT (2
4043 T ax2" =& 496 = axa”
A = 4096 —409s = |

CA VINOD REDDY |
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98. Which term of AP 64, 60, 56, 52, ......... is zero
a. 18" 17" c. 14" d. 15"

Tn this A.P- a=64 d=-4 s (=) Ea) =-64

tn=0 = a+ (W-1Nd (n-\) =16
o = 64+ (n-0)(C4) h=\F
99. Sum of all 2 digit natural numbers is
a. 4955 b. 4890 c. 3776 //Iﬁ\lone of these
o+ NE oo = A9 27

So. = 20 (lo+9ad) = 4doS
9o 5

100. 1,y, 9 are in A.P, then value of ‘y’ is

a. 3 b. -3 c. Either (a) or (b) %\Ione of these
4= 1+9 W
2

101. a, b, ¢ are in AP as well as GP, then

%a=b=c b.azb=c¢ c.azhb=c d. Wrong question.

IH‘HH|HI'|HH|HH‘|IH‘IIH|H|||H|I Ill‘|l||‘llil‘llll'llll‘llll'llll‘llll‘llll‘llll‘llll‘ll|l|ll|ll‘llll
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102. a,b,c,d,e.f are in AP then (ec) =?

a. 2 (c-a) b. 2 (f-d) %Z(d-c)

d. (d-¢)
p-c = S irerm ~ 3““ Ao
= 2x {-¢)
103. The sum of first ‘2n’ terms of AP 2, 5, 8 ...... is equal to sum of first ‘n’ terms of AP
57, 59, 61, .......... thenn=2
a. 10 b. 12 4,‘?11 d.13
2 S5,3 ----— S7,54,61 .- -—
¥ ﬁ W44 (n—1) 2
ﬂ[“m 02| = £ [lax (2]
44+ en-3 = S7+ n-l
En+tl = Nn+isg . dnz2sSs on=td
104.Ifa"=b’'=c’and x, y, z are in GP then loga, logh, logc are in
a. AP %.P c. Both d. None of these
Z
aX - 5‘5 — C

s [N

gQ[_eSo\ - %.Losb = Z L°3C‘_

(Logs) = cgn x =g
105. (4x+5), (5x+7), (8x-1) are in A.P. then x =2
%5 b. 6 c. 7 d. 4
"'.'—z - ": | < {3 - —tl
SRL+7 -4R-S =

= {YR-—\—SR-/
N+2 = 33R-9

o =22 S RES

IH‘HH|HI'|Hll|Hl||HH‘Hll|H|||H|I IlllIl||‘llil‘llll‘Illl‘lllllllli‘llll‘llll‘llll‘lll!|HH|I||H‘IIH
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106. 3 numbers are in G.P. If we double the middle term, we get an A.P.
then common ratio of G.P. is equal to

4&215 b. 3 +]2 c.3+5 d.5+[3

1 |
a a aT P 0\(2—7):9\(3*—;)
T/ o
Y-\ = 3 -2%
QA 59 a¥ ;AP o = ¥ _av 4+
¥ !
+ - + +
sa- - as-2a :‘\—\)'C 4O :‘\__ 4%3 :4_2\]-_.%
° 2 %\ 2 2
¥ = 2%\3
107.2+1+3 +1+3+ ... =9
a. 17/8 b. 9/2 c.7/2 ~# 4
Ih s &b q:2/ 3’:'35_ AS o<y <

8

il
T a
«

M
1 |v
‘_

tf

2
A
2

108. In AP a,b,c,d,e,f,g,h common difference = k; then in A.P. a,c,e,g common difference. = ?
ﬂk b. K c. k d. None of these

S8 ¢1,64,67,7073 76,74, 32 B.0. with d=12

7¢ 2 e alSo 1 AP wth wmmon _ 4y o
S®,64,70,78, o G- 3@

109. In G.P. a,b,c,d,e,f,g,h common ratio = m; then in G.P. a,c,e,g common ratio = ?

a.m b. 2m //(,/An

IS 2SS 1RS; €25, 3RS ISe2s axe MP _wth ¥ = S
/ ’ / /

2

d. None of these

| as &2S, [S82S ave also NG R .

/ . N

I with  wmmem Yars =S
IH‘HH‘||||'llll‘ll“‘I|H‘||||||||||H||Illl|l||‘HH‘HH‘llll‘llll‘ll“‘llll‘illl‘llll‘llll‘HH‘IHH‘H“
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110. Shall we stop here for the day?

a. Yes Mo

111. 8,8,8,8,8 are in

</ a. A.P b. G.P %H.P

™~ as  24,G,21o2 ave nAPp.

a. AP b. G.P c. H.P 41/1\“ of these
112.1,1,1,1, 1,1 .
_ “"2468 10122¢™

d. All of these

19 19_1’ M =9
11 s m18aremH.P.thenm :

(\ya)l: 3IXI0 =M

< a. 1/13 /b./13 c. 1/12 d. 144
s+ be n A-C.
\> q;/ m 1@ e \nA-@
wo _3_-\19_ =1
2
114. 3 ,im, 10 are in G.P.; then m=?
a.\30 % 30 c. 13 d. 13/3

are in GP. with common ratio =2

115. If a,b,c,d,e,f,g,h,i,j,k,I,m,n,0,p,q are in G.P with r as common ratio; then a,d,g,j,m,p

ar b. r é/ r’

d. None of these

IH‘HH|HI'|HH|HH‘|IH‘IIH|H|||H|I Ill‘|l||‘llil‘llll'llll‘llll'llll‘llll‘llll‘llll‘llll‘ll|l|ll|ll‘llll
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@ Y Shovt cots of A-Q.
@ T Sw =Sk ten Sy =0
@1_&\“Ktm: 18 ‘Eh hen ’E(W\'\‘V\):O
@ & tpm=n Jr{:h:"“ hen t(mJ«n):O
@ Foy AP Fox &b
tnh = a+(n-0Dd tn=ax (?s)h-\
n D)
= = + (-1 d] a3
S R G 28D e
ofR
‘Q’ a (\’x“) when o<y <\
n (-\:| '(“‘Zh) (l..\")
2
Soo = o  when ¥T>\
I\ A 5 when 0 <¥ < |
oo (\_"(
H""U[”I"“l"“l“||||"|l'|"|||l|||Illl|l|||l||l‘ll|l‘||||‘|Ill‘|l|l‘|l|l‘i||l‘llll‘llll‘HH‘IIHI‘IIH
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2+ 4 ¥C+ %

2
3+ 2>+ 33—\- - - a =

@)| 1+2+ 3F 4t - 4+ W™=
2 (ks (2ak+))
Zar Ly - kK=
G
2
(F3F S+ 74 - Kteyms — Kk

- 4% R Yewms = * (k+1)

2

ASARD.

2
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Food For Thought

DON’T CHASE PEOPLE
CHASE

“DREAMS ”

- GA VINOD REDDY -
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